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	QUESTION
	SC

	Determine the order of magnitude O() with respect to n of the following algorithm:

for (int i = 0; i < n; i++)

 for (j = i; j< n; j++){

   do something

 }

}                                                       The order is O(__n^2____)
	 2


	Which of the following is correct (multiple correct answers possible):
· an abstract class may contain non – abstract (= implemented) methods
· a class derived by an abstract class MUST implement all abstract methods of its super-class

· a class implementing an interface MUST implement all methods defined by the interface

· a class can implement more than one interface
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	In sequential programming...
· all interaction must proceed according to a pre-defined sequence
· the program is driven by events
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	Which of the following is correct (multiple correct answers possible):
· Multiple listeners can be registered to the same event - source
· A listener must register to an event source to receive events
· A listener can only register to a single source, not to multiple sources
· An event in Java MUST be handled by a listener, else an ‘EventNotHandled’ – runtime error occurs
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	If you create a button in Java, it must explicitely be added to a graphical component (eg. a Frame)  to be shown. What is the effect ?
(This time: only ONE answer is correct :-)

· The button is shown, but – as long as no listener is registered – the program will not react to it 
· Adding a button to a frame registers the button by default to the frame, i.e. the ‘actionPerformed()’ method is invoked pressing the button
· As long as the frame doesn’t provide the implementation  of the ‘actionPerformed()’-method, the button can’t be added, hence it won’t be shown
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	List three event sources of JAVA:

1__JButton__________                  2___Mouse_________                    3__Keyboard_____________
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